w;ﬁtw%’rﬁ& LEFLELS,

(1)(12.39-5.943) x 100-89.7(2)5.4 x 1.85+3-0.51 + 3.4

R e
T 2 7 0 7o i 318
55 °% TR TR .
5 4 P 0
.... 9..9.9.9;
R
3/9.9 9
L sss) e [ e
(3)2.9 % (3.2-0.5)=(6.242, 1) x 0. 1(4)4.2- {3.2-0.2x (12-6)}
. oo 83 ...... y 0. %
i x 0.1 D
: 0 1.'.'.'.'.'.'.'.'.'5);'.'..'.'.'.'2'.'.'.";
— 1.2
T TN
......... g
— 2.0
e 2.2
e .
i+ 2. |
TS
| 1| 2. 2

(5)19.2 + [26+{22+(1442)}) (6)21.6 + [26- {22-(14-2)}]

38 I 0
6 4 |1 6
N : 1.3 5
. 162 1.6
64/ 1 9. 2 | 6
| 9 2 5 6
: 0 : 4 8
8 0O
8 0
0]
| 0. 3 | 3]
-os BESEBTY S L FHsa— E IE E oooooooooooooooooooooooooooooooooooo
b ZERTFR b i
.o: ©Q%ﬁ7‘¢7\]\ E. _l:‘: oooooooooooooooooooooooooooooooooooo



